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1. Une pile est une structure intrinséquement ?
* [(8)] Recursive

AB) Ttérative
2‘(? Répétitive
)

Alternative

?. 2. Quelles opérations définissent une file 7
ﬂ % premier
4 @ enfiler
‘(gf sommet
X—~ta] dépiler

3. L’implémentation d’une file sous la forme d’une liste chainée, n’est pas possible ?

X ﬁﬁfaux

(b) wvrai

4. L’implémentation d’une file sous la forme d’un tableau d’éléments, est dite ?
X m statique

(b) chainée
LY @ contigué

(d) dynamique

5. Que représentent opérationl et opération2 dans 'axiome suivant (dans lequel e est
un élément et x une pile) ?

opérationl(opération2 (e,x)) = e
@ opération]l = sommet, opération2 = dépiler
(‘5) opérationl = dépiler, opération2 = sommet
K@ opérationl = sommet, opération2 = empiler
- opérationl = dépiler, opération2 = empiler

6. Une file est une structure ?
(a) LIFO
(b) PIPO
X (@)} FIro
(d) FIPO
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7. Que représentent opérationl et opération2 dans l'axiome suivant (dans lequel e est
un élément et x une pile) ?
opérationl(opération2 (e,x)) = x

(& opérationl = sommet, opération2 = dépiler
M opérationl = dépiler, opération2 = sommet
ke¥ opérationl = sommet, opération2 = empiler
% K‘g opérationl = dépiler, opération2 = empiler

8. Les valeurs 4, 3, 1, 6, 2 et 5 sont ajoutées, dans cet ordre, & une structure linéaire
vide. L’ordre de sortie 5 2 6 1 3 4 peut-il &tre celui d’une file ?

A oui
x w non

9. Les valeurs 4, 3, 1, 6, 2 et 5 sont ajoutées, dans cet ordre, & une structure linéaire
vide. L’ordre de sortie 4 3 1 6 2 5 peut-il &tre celui d’une file ?

\W oui
&) non

10. Les valeurs 4, 3, 1, 6, 2 et 5 sont ajoutées, dans cet ordre, & une structure linéaire
vide. L’ordre de sortie 1 2 6 5 4 3 peut-il &tre celui d’une file ?

M , oui
Y @ﬂ non

LES SEULES CUOLES QUE
J'ALLA PATIENCE O'APPREN-|
DRE, C& SONT LES TRUCS
COMPLETEMENT INUTILES

DANG LA VIE .

En raison du controle de
Maths, ne pas repondre
aux question 11 a 20.
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Pour toutes les questions, une oun plusieurs réponses sont possibles.

D. Aucune de ces réponses.

N
w

0wp e
+

> > > P
(]
I

w

¥, D. Aucune de ces réponses.

24, A+B=

% /Al AB
B A+B
&’ AB

27 Aucune de ces réponses.

25. A@B=
XA AB+AB

AB. A®B
< AB+AB
U AeB
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26. A(B+C+D+E)A=
x A o
B 1
C. B+C+D+E
D. Aucune de ces réponses.

27. A+B+C+D+E+A=
A. 0

x B 1
G BHC+D+E
D. Aucune de ces réponses.

28. AB+ABC+AB.CD=
~ A& AB
B. AB.C
C. ABCD
D. Aucune de ces réponses.

29. A+AB+AC+AD=
A. 0
Bl
C. A
*% Aucune de ces réponses.

30. A+AB+ABC+AB.CD=
A 1
B A

) K%’ A+B
. Aucune de ces réponses.
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Grammar: Present simple, Present progressive or Simple past

31. What were you doing when | saw you yesterday?

A) | talked to my friends.
B) | went to the bank.

3( C)| was calling my brother.
D) | argued with my brother.

32. What did Michael do yesterday?

R ‘A) He played in the soccer game.
B) He was participating in the game.
C) He was doing his homework.
D) He had some friends.

33. Did Kathy leave her keys on the table ?
A) No, she was not leaving them.

B) Yes, she took them.

C) No, she was leaving them.

¥, D) No, she took them with her.

34. Does Rob usually watch the evening news on TV?

A)Yes, he never misses it.

B) No, he is never watching it.
C) No, he is not liking it.

D) Yes, he is doing it everyday.

35. That movie was really funny. Did the kids like it?

A) Yes, the kids were enjoying it.
B) No, they were falling asleep.
25 No, they didn’t go.

% D) Yes, they absolutely loved it.




36. Were you sleeping at ten o’clock last night? | tried to call you.

M Yes, | am going to bed early.
? Yes, | was going to bed.
o, | was watching a movie then.
) No, | ate dinner.

37. It’s almost dinnertime. Is Jun cooking dinner?

A No, she ate.
%, [B)Yes, she is making chicken.
S No, she didn’t do.
)Zﬁ Yes, she is always fixing dinner.

\ 38. The kids were having a lot of fun in the park.

A Did they play?
b} /B'SWere they happy?

C X ) What were they doing?
B) What did they do?

39. James was working in his car garage when the gas tank exploded.

xﬂWhat did he do?
P) What caused the explosion?
ﬁWhat was causing the explosion?
}{) What was exploding?




40. We were having a wonderful time when suddenly the electric power went out.

x)/What did you do?

X \B)What were you doing?
ZfWhat did you talk about?
) Why was the power going?



